MTH 277, Exam #1, Make-up, Spring 2018 Name

possible and any credit aiwarlded for the work will not be available.
Usel = (3,—1,6),7 = (3, —4,—2) to find the angle betweeflii and 7. (2 points)
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2. Find the volume of the parallelepiped bounded by the vectoQ U =1(23—-4),v =(1,54), w
(2,—2,9). (2 points)
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3. State the domain and range of the function f(x,y) = in appropriate notation. (3 points)
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4. Find the equatio

point (3, —2,2).
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n of the cylinder 9x* —+-(1'_6_z:2 = _Lﬁin parametric (surface) form. (3 points)
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a. [u(t)dt
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9. Identify which vector field goes with each graph. (4 points)
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between (-1,3) and (3,6). (5 points)
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10. Find the value of the line integral f. (x + Zﬁ)ds on the pa
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11. Find the total differential of w = x?yz? + sin(yz). Evaluate
differential to estimate the value of w(3.1,0.95, 3). (3 point
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